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Question Numbers : (1 to 5)



Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 1455899992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine

Chocolate is made from processed cocoa

5, Ltgets stuck in their mtestines



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 1455899993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces

Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 1455899994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 1455899995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statement about the passage
Options :

Chocolate has 11l effects

Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 1455899996 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste

simple

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 1455899997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :
It is raining. aren’t it

1. %

, He said that he is ruined

You must work hard for success
3. %



It is smelling goodly

Question Number : 7 Question Id : 1455899998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct sentence

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 1455899999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. %



d1l. 4

d. all

the. an

the. a

Question Number : 9 Question Id : 14558910000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the



Question Number : 10 Question Id : 14558910001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at

to

with

upon

Question Number : 11 Question Id : 14558910002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.
Options :

of

1. %



towards

5]

for

about

Question Number : 12 Question Id : 14558910003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm



Question Number : 13 Question Id : 14558910004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’E(I
3.

came, see, conquer
4.

Question Number : 14 Question Id : 14558910005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 14558910006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy



to pacify
v

to refuse

Question Number : 16 Question Id : 14558910007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 14558910008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 14558910009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

VICIOUS

capacious



Question Number : 19 Question Id : 14558910010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 14558910011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 14558910012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 14558910013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 14558910014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.

Their wonder restrained a strange happening



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 14558910015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon

He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 14558910016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589331

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 14558910017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The leadership in family planning — EXCELL awards 2022 in the country

category was received by :

.-’-" o *
Wil © W i &k o L EEN

Options :
China
e
O
1. %
India
O] =Y
2. ¢
Singapore
Jf‘_’lé-'
3. % '
Thailand
A SF
4, %

Question Number : 27 Question Id : 14558910018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Indian Film personality of the year 2022 award at the 53* International film

festival of India (IFFI) was presented to :

QJ}"&JEH{!KM%'L'Eumﬂ()22\_,"p£pu; (IFFD 44 317 U 153 L sk
Options :

Rajinikanth

1. %

Late PuneethRajkumar

i
o o
S LD e E[‘.«‘?,f'

2. %
KonidelaChiranjeevi
# - 5 Kl
ul;{..-'z.l_.ifl_:.f
3. ¢
Amir Khan
e
4, %

Question Number : 28 Question Id : 14558910019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



28.In India, eleven states account for 90 percent of the total number of operational

mines. Which of the following states are part of them?

B 5 <) P S it Ll s F UL/ FEI0% e

A, Andhra Pradesh

&l e
,___-‘;){J_fﬁj
B. Bihar
C. Chhatisgarh
a:fu'::i
. Gujarat
=
el
E.  Uttarakhand

S

Select the correct answer :

-
Options :
A.C & D only

DusC A S
1.4

B & E only

EnB 7

2. #

3. %



C.D & E only

E.oD {C A S/

A.B & Conly

(_.1 Il B *'A _-E‘,r"";

4. %

Question Number : 29 Question Id : 14558910020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following is incorrect with regard to the National Green
Hydrogen Mission?

| ( - P' | d -‘.':" I} b 4 f’ .":'f'
b hbe)r e alf e P U

Options :

It was approved by the Union Cabinet in April 2023.

A 'l...;»* E’u-2{)23u ﬂ __J-Kn # f,-:_,

[t makes India a leading producer of green hydrogen in the world.
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[t reduces dependence on imported fossil fuels.
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It attracts investment opportunities for the industry.
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Question Number : 30 Question Id : 14558910021 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
30."Yaanam’ is a science documentary of about 44 minutes. Which of the following
are comrect about 1t?

e L. i ot e "o
el -"f'e:w'ff——-}é’:w"d:-{fw Wt Al LT Al ’r‘di.r‘-‘—:"'"*“ A
A.  Yaanam is a first science non-feature film in Sanskrit,

v g ' o pre
_..";_i"hrbfﬁ-_,;fl-;v%hf:&ff “:"i.'L"

B. It recounts the story of India’s Chandrayan.

e i :
— UROW U e e Ry

C. It was screened at the 33" edition of the International Film Festival of

[ndia (IFFI)

b i o
=L :g:f:;:ﬂ}.,l:;"’l'fvw ,'-L_,.‘_':i.;:.'

Select the correct answer :

i

S g elr e



Options :

A & B only

B -'.3' A I—-;_,'r.ﬁ

A & C only

C ool A ¥

C only

NG

B & C only

'C FEL B -._jj"‘;r

Question Number : 31 Question Id : 14558910022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total length of national highways (NH) in India , as on 30" November, 2022,
approximately, was : (in lakh kms)

.

R Z g ary il sy A 1
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Options :



Question Number : 32 Question Id : 14558910023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

March 2023, who among the following was elected as the Chief Minister of
Tripura?
wu w il e Si22023%.4
Options :
ManikSaha

WLl
1. %

ManikSarkar

J Kz“ ...FLTL



. Biplab Kumar Deb

-~

el

Dasarath Deb

3B

Question Number : 33 Question Id : 14558910024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In World women’s Boxing Championship 2023 who won the gold medal in 50kg
category.

- Wl o g wr har B s g .
Ol qﬁu:jyﬂ:' L il ¥ 50 s f‘;ﬁ"&@ﬁm’;ﬂoﬂ

Options:

LovlinaBorgohain

ﬁ L
1 |"r:*"I s50s s
. B

NikhatZareen



Saweety Boora
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NituGhangas
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Question Number : 34 Question Id : 14558910025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is wrongly paired regarding Nobel Prizes 2022,

.

P-ELICL g, Pes el s b3
Ce Gl e L1p Z2022:M601) 5
Options :

Physics — John . F. Clauser

e - =¥
1. %
Chemistry — Alain Aspect
2T IV
2. 4



Peace — Ales Bialiatski

c |
SELS - S
Economics — Philip. H. Dybvig
= Sy I T
SIS EIE L e
4. %

Question Number : 35 Question Id : 14558910026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the incorrect pair regarding the Union Budget — 2023 from the following.

& |4

NG | . '-' f i-.-"
LW ’EI;}?.'MLUT:UE b NP L2023 1785087 7
Options :

Gobardhan - Waste to wealth plants

i#® H {-’ ol [ -’P’;
W&y ssd Lmday — T asd
1. % )
AmritDharohar — Optimal use of wetlands
Vg
eIy FEEUSE IS - s P
2. %

3.¥



Unity mall — Centre for national integration

Question Number : 36 Question Id : 14558910027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘Whose writings influenced Karl Marx’s dialectical materialism?

-
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Options :
Ricardo
y "JE:’J
1. % i
Hegel
¢,



Angels

urﬁ'j
3. %
[enin
-
o
4. % ~

Question Number : 37 Question Id : 14558910028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[dentify the writer who won the SahityaAkademi Award for Telugu Novel
‘ManodharmaParagam’ in 2022.

e | | pois i el | .-"ﬁ..’?"«'."ﬁ £,
s S JRO220 L SAISHMAST o LONH L 14l P

Options :
Vadde Naveen

o A3
1.%

RepakaSubhadra

-'J;ui‘,{,‘!""é;,x
2. % :

3.¢



MadhuranthakamNarendra

U,ﬂ:jl’fh!"pn

Chandra Latha

Vi

4, %

Question Number : 38 Question Id : 14558910029 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

Sl PECOP2T U AU

Options :

Kuwait
oy
Sharm-el-Sheikh

2. %

Doha

b2



Beirut

[:
i

Question Number : 39 Question Id : 14558910030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which Harappan City recognized as UNESCO world Heritage site in 2021.
# & - - " s f& 5 of
Yo UL UNESCOU20215 7.2y
Options:
Kalibangan
7
Tt
Dholavira
lzalls”

2. %

MohenjoDaro

EVIRE AN
3. =%



Lothal

LY

Question Number : 40 Question Id : 14558910031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Every year world Press Freedom Day is celebrated on

- e s # T e |
- Pl b T Sl a1

Options :

3", May



S 4 13
Teaching Aptitude

SectionId: 145589332
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 14558910032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the appropriate purpose of learning?

S

Options :
Modifications of behaviour

L . -

L | sl '1 /
o, A e SIS
-

1. %



Individual adjustment

) ]
— .,‘3./'1'-:'}'/;’”'
2. #

Social and Political awareness

# o =
Ul 208

3. #

Development of life skills

- - o
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Question Number : 42 Question Id : 14558910033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How can a teacher establish rapport with students?
R - E:-—H, oo -
S U f b (TR F L ol L

Options :

Becoming a figure of authority



Impressing students with knowledge and skills

_.; f'w‘:‘ ,lb_._,;w #~

Playing the role of a guide

.J_,__- !.-* !.-d"(“1 ..
A L W EVE -1V
3. ¢

Becoming a friend to the student

PSR 7 b
4. %

Question Number : 43 Question Id : 14558910034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are the essentials for the improvement of any skill?

-
,-*| F,,'

A-..—-UJ‘HV—-L—L;/JUI-#JWU ()

o

3
Options :

Correctness & Speed

Ty,

-‘1‘

I . il
A2y 4

2. &



Accuracy & speed

;LJ’;;:F:.-E;'LEJ‘

Understanding & correctness

=
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Easy methods & speed
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Question Number : 44 Question Id : 14558910035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?

|f- 4 __,.lr.' :"} b:" . .
S ey i A2l slay

Options :

Proper utilization of time

o
JEIG E ot



Continuity of classwork

hiy
VLFL Kl—---I qu;rg

Innovative ideas

= WS F17

3. %
Thought provoking
ool e
$AE
4.¢ =7

Question Number : 45 Question Id : 14558910036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How education is useful in application towards daily life?

=

o -
= L =
Wl s £l i

Pl bt |
Ve B AU T e
Options :

For logical thinking

3



Social values

e >
ABIEk

Problem solving

AN S
3.¢¥

Moral values

e S
AR

Question Number : 46 Question Id : 14558910037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is suggestible step for the improvement of a slow learner?

Options:
Remedial teaching
e s kS kel

1.4

Re teaching

L""I“
2. %

-
P
-



Group discussion

.F"
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Imposition
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Question Number : 47 Question Id : 14558910038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the output that we expect from the students through high percentage of

attendance

k"

CBES LI et [ fa Sz fos i

(,--

Options:

Mid day meals

Discipline

J::-"sl/gf
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Minimum levels of learning

JE LAY
3. %

Honesty

L',;f,"' Il
4. %

Question Number : 48 Question Id : 14558910039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the strategy goes perfect for the attainment of effective learning?

4 - '/ | ~ | i | w4
Puffv;h’ﬁ’;dfé-é-u'?yé-f I/
Options :

Online oriented education

r‘_"‘b l:h x.."’||.
uw '-"h-"

Learner centered education



Teacher centered education

i":“u d,:’li,."uf.ﬂ_‘&

Play way education

UEZ:?’M{'J
4. %

Question Number : 49 Question Id : 14558910040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Expand UPE as per article No-45 of Indian constitution?

i - W ..f___n-
2K UPEJ 6 Z45 A8 L o T s

Options :

Union Programme education
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Upper primary education
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University programme education
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Universal primary education
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Question Number : 50 Question Id : 14558910041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Jaya JayaPriyaBharathalanayitri...... Divyadhatri....” Who wrote this song?
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VP g Qu s 513 PR e W
Options :

Dasaradhi

Devulapalli Krishna Sastry
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Geography
Section Id : 145589333
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 35
Section Marks : 35
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Is Section Default?: null
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The Climates in which “ Duricrusts” are formed
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Mud flow of volcanic region is called
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The thickness of Stratosphere is highest above this region
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In Koppen's Climatic classification, monsoon climates are indicated by
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Jet streams are commonly found in
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Which one of the following is an extrusive igneous rock?
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The dry lake bed in desert regions is called
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The average albedo of the earth’s surface
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Which of the following local wind is called “Snow eater”
/ s / -/ =
7’ 1 ' . x F ' L‘#‘ )
c;"“_?{’f Ns2ld s S iy gW 0 o fo 2o
Options :

1. %



Mistral

Bora

Question Number : 60 Question Id : 14558910051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

[dentify the cold current
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Oceanic crust 1s known as
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Which among the following is a greenhouse gas?
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Oxygen

Water vapour
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Hydrogen
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What is the density of continental crust?
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Which process makes a river valley deeper and wider?
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Who among the following first identified the regional and general geography?
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“Yakuts’ and ‘Chuckchi’ are found in which region?

- / /
srsbibgraw gl 5 2t

Options :
Canada
15
1. % =3
Siberia

2.
Gfeenlandf
b S
3. ® #
Kashmir

4. % /-‘V‘MJ

Question Number : 67 Question Id : 14558910058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who among the following wrote the book ‘ Anthropogeographie’?
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Fredric Ratzel
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Which race is characterized with narrow nostrils?
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Transhumance is practiced by
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The Gondi language is related to this language
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The first ranking Tobacco and natural rubber producing countries in the world

respectively are
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India, Brazil

Argentina, Tailand
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Fixed Carbon is highest in this type of coal
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Dispersed settlements are found in
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Coromandel coast
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Which of the following is a tropical grass land
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The river associated with Mahatma Gandhi Hydroelectric project.
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Podzolic soils are found in this State
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[n which route the first Vande Bharat train was run?

74 7y, .
f i}jd;té?fﬁd <o) o/ é;;i ui{;l@fldjmh!'dfy ({%;

Options :

Mumbai to Shirdi
e 5
K2~ (f"“'ﬂ
Delhi to Katra

Ll e b



Delhi to Varanasi
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Which among the following State of India has the largest area under canal
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The smallest Union Territory of India
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Which of the following district of Andhra Pradesh has manganese ore?
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Which country is the largest producer of crude steel?
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The co ordinates received through GPS pertain to this datum
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Spatial data model base on grid cells
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Which of the following is visible atmospheric window?
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0.1. to 0.4 um
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Buffer is a technique based on
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From which of the following countries the Indus Valley people imported Lead?
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China
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Varna system in the society is for the first time referred to in the following period?
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Neolithic Age
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The Telugu work “Sugreeva Vijayam” was written by
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Kandukuri Rudrakavi
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Nahapana was defeated by

e .
§ Gyt ok o A UL

Options :
Sri1 Mukha
g
[t &~
1. %
Satakarni-1

Jﬂfé,v/'f_.

2. %
Gautamiputra Satakarni
: - 7
.-i—/ I -
L



Pulomavi-I

()ﬁ' (s Le )5

Question Number : 91 Question Id : 14558910082 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following work is not composed during the Sangam period
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Mahendra Varman-I was killed by Pulakesin-II in the battle at
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The first epigraphical evidence of the practice of “Sati” is found at
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Nalanda University was established by the following Gupta ruler
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Skanda Gupta
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The following inscription of the Cholas deals with their Local Self Government

system.
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Rameswaram Inscription

J’//J)}/f -

Madurat Inscription

/s
N
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‘Kalpa Sutra’ was written by the following Jaina Monk.
/ ! e l - | L / g . :
i /’:)“"»:5/ &T‘:"Q‘{U’Je‘d’) el
Options :

Ajithanatha

Lﬂ)t t-):f

Atharvana

Cly 07 |



Vasumitra

) )3

Bhadrabahu

b s

Question Number : 97 Question Id : 14558910088 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following work was not written by Harsha Vardhana
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Who among the following built the Ramappa Temple during the period of the

Kakatiyas?
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[n 1794 at which battle the zamindar of Vijayanagara was killed by the British East
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Vijayanagara Paintings are found in the following temples?
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The two basic coins silver tanka and copper jital of the Sultanate period were
introduced by
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Who among the following was not a great devotee of Lord Krishna
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Match the following books with the Authors
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A.  Ain-e-Akbari i) Abdul Ham:d
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B. Muntakhab-Ul-Tawarikh i1) Badauni
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C. Padshahnama iii) Abul Fazl
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A-iii, B-ii, C-i, D-iv
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A-ii, B-iii, C-1i, D-iv
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Question Number : 104 Question Id : 14558910095 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The Shalimar gardens of Kashmir were developed during the period of
e, [ S oS
G o Lol Sl ,(,JL;J;,
Options :

Babar



Akbar

e

Jahangir

pax

4, &

Question Number : 105 Question Id : 14558910096 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who among the following assumed the title “Haindava Dharmoddharaka™?

'r/ , ’ S 7 . ;
TR (T A P
Options :

Krishnadeva Raya

L/ :‘/%J[;j//'/

"

Sivaji

.
-

B s



Sambhoji

¢

Tatacharya

b bt

Question Number : 106 Question Id : 14558910097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which year Sivaji concluded the Treaty of Purandhar with Mughals?

rd /o e L h : /

(Wl GAssy U dope 2ghi grdly
Options:

1660 A.D
1663 A.D

1665 A.D

3. %

1667 A.D



Question Number : 107 Question Id : 14558910098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The Battle of Wandiwashi war fought between

A AR R 1
fé}:/Oé-ﬂ/)ii(j’U’\_/‘" Ut

Options :

English and Portugease

v A
(j%}; /)'” /J/’

French and English

/;f' } ‘}.
' JAr
J/__l// (5',:"/}

Dutch and French

i 6>

Portugease and Dutch

. Zk.'? 21 J%Z

Question Number : 108 Question Id : 14558910099 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The construction of Fort St. George at Madras was started in the year?

, , /
W j"’&’/"f‘/é"f”/‘ dﬁb’ é,{f._g,;L, o;-a«”w

Options :

1640 A.D
1.4

1611 A.D
2. %

1632 A.D
3. %

1630 A.D
4, %

Question Number : 109 Question Id : 14558910100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who among the following condemned the subsidiary Allience

TN R ALETEE 4 .
fO é’ﬂffd:_: “ G (o hs
Options:

1. =



Bentink

e

Thomas Munro
5 @ )/,J}/ L),-vto-ﬂ zﬂ’

Rippan

e

2

Ma Caulay

2 Y

4. »

Question Number : 110 Question Id : 14558910101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following journal is not related to Kandukuri Veeresalingam.
] -~ / /
r i i /
{{’U‘:d"a"f’w L"}:’/ U’/}),,,J Jy L«j J;/OL,' I

Options :

1. %



Vivekavardhini

s s

Gruhalakshmi

Hasyasanjeevani

Satihitabodhini

gt o

Question Number : 111 Question Id : 14558910102 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. Match of the following

ool )0 Ly 0

Person Movement

A. Duggirala Gopala Krishnath 1) Palnadu-Pullari Movement

Laf il 7 L vy 13
Lo iey b i

B. Kanneganti Hanumanthu 11) Pedanandipadu No-Tax Compaign
Va 7 /1" o 2 g :
et b : _ , d }
i (oM il At ’);w/“'/ﬁ
C. Parvathaneni Veerayya Chaudhari iii) Home Rule Movement
o
6429 }/’J/ U"'L”/; | J,/.[/ o, 2
D. Gadicherla Hari Sarvothama Rao  iv) Chirala — Perala Movement
bty pesse s
f: /4;’ e .) ~J
Options :

A-iv, B-i, C-iii, D-ii
A-ii, B-iii, C-iv, D-i

A-iv, B-i, C-ii, D-iii

3.¢



A-i, B-iv, C-ii, D-iii

Question Number : 112 Question Id : 14558910103 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

State re-organisation committee-1953 did not consist the following member,

- ¥ i / . el
G GPE iz 5 P b 1953
Options :

Fazl Ali

e

H.N.Kunzru

Ve
2 A= g

K.N.Wanchoo

)f',"‘i"?*;

K.M.Panikkar

‘)?L'ﬂ"ﬁ



Question Number : 113 Question Id : 14558910104 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arrange the following incidents in chronological order

< -

P el V) Dl ki
A. Storming of the Bastille
s vt
B. Estates General Meeting
St o
C. Parisian women’s march on Versailles

CM@;,}@E,LQ,;)%LM

D. Tennis court oath

b Vo, Uv«}.j

Options :
B-D-A-C
1.+
B-C-A-D
2. ®
D-B-C-A



C-B-D-A

Question Number : 114 Question Id : 14558910105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which year the Atlantic charter was signed

é; Ly L5 /;/éi’w’u/jé;&é‘ Al .-.:-ra:,:/

Options :

1941A.D

1.9

1942 A.D

1943 A.D

1944 AD

Question Number : 115 Question Id : 14558910106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The term of office of the judges of the International court of Justice is
/., / N A
fg:’ éJ ot f/rf 5}/ L JLJ-'" :/JJfO,[,;UlQ{
Options:

3 years

9 years

Civics
Section Id : 145589335

Section Number : 6

Mandatory or Optional : Mandatory



Number of Questions : 15

Section Marks : 15
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 116 Question Id : 14558910107 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which Act introduced bi-cameral legislative in India for the first time
f /'L;:,.\”‘ ‘ il oot M = e ) Gr 9
SUl) e iieg w1 s> i Lo = U A

Options :

Government of India Act 1919

E s s mms B
L1919 2w Cn 50 Yuirin,]

Indian Council’s Act 1909

1909 __-:,‘;r (,/CJ,.}};/@:});

2. #
Government of India Act 1935
s :
935 wub) Ly i b
3. ®



India’s Independence Act 1947

1947 L«;{f' ol COLSer

Question Number : 117 Question Id : 14558910108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following was not included in Reserved subjects under Government

of India Act 1919

Irrigation
= s,

Education of Indian’s

3. v



Famine relief

4, %

Question Number : 118 Question Id : 14558910109 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Who described Preamble of India’s constitution as a “Political horoscope”

i 3y g S ’/ y 4/ s s i
Sl gl Sl L0 Ll Zod
§ L; /}5
Options :
K.M.Munshi

. U:w‘ rf;j—f

B.N.RAU
3
22
2. #
B.R.Ambedkar
4 o~ oy
PRI
3. %



Jawahar Lal Nehru

2 RN

Question Number : 119 Question Id : 14558910110 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which Constitutional amendment Act dealt with exchange of territories between

India and Bangla Desh,
/.

G her Ly Yo 11 06 yfzg‘:ﬂ/@;ﬁjfﬁyf
| o o o o b Eg

Options :

97"

L0

g7

b g7

770

_ Ols 77

3 . .



100™

O)} [o0

4.

Question Number : 120 Question Id : 14558910111 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which Loksabha had Shortest life?

S P o o L dp g

Options :
llth
Uj} 1]
10ih
()“‘_5' 10
2. ®
9“1

1 zth

(J9 (3>



Question Number : 121 Question Id : 14558910112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Right to livelihood is included in.
x - / b 4 ;}J
- 0], L o o % 4 S22 o3
!
Options :

Right to life

G ¥

Right to Education
- -—

/
(%2 b (bu
2. % i
Right to Equality

& Vo

3.

Right to Form associations

Pl o2egr

4.

Question Number : 122 Question Id : 14558910113 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a Cabinet form of Government Bureaucracy is responsible to

1 - '/ ' u
s e o
Options :
Cabinet
o W
1. -
Judiciary

A as

Political Party in power

b
U’}@Jé“’a_“ "’i‘:‘;!

3. ®

Electorate

o @I

Question Number : 123 Question Id : 14558910114 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Who of the following believed in class struggle.

3 O e e GLEF ol S5 20
Options :

J.S.Mill

oz

Hegel

d,{ﬁ
Karl Marx

A

T.H.Green

7 b
- &

Question Number : 124 Question Id : 14558910115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the West first to support the theory of Divine Origin were

. s o g ' st (e LS ;
Lipilot § G gldw P es™ 7 7 g
Options:

The Jews

§ 257

Roman Catholics

g 20

Protestants

b b y
i 9 /5

The Muslims

) [

Question Number : 125 Question Id : 14558910116 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Whose name is Primarily associated with organic theory of the State.
. ol - /M; Lol b/

Options :

August Comte
4
Lo 0

Mac Iver

’J}_{IJ/L

Herbert Spencer

3.

T.H.Green

S A
()"_f-/’- - 5
.

4,

Question Number : 126 Question Id : 14558910117 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following is the distinguishing Characteristic of State as compared
with other associations? '
ST i B30
J Ll (y”j,_»@adv WO (a L (o [U};‘v{’/,”
e S
§ & W/ 6/l
Options :

Population

cob T

Government

y:

gl
Sovereignty

sy las 27

4. &

Question Number : 127 Question Id : 14558910118 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One of the oldest theories about rights is theory of

'd

M @ by 00D

[
Options :

Natural Rights

U}?Lﬂo’z/;
Legal Rights
Pl

Idealist theory of State
3. %

Historical theory of Rights

g V¥

Question Number : 128 Question Id : 14558910119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a democracy who gets prominence.
L? oo A’ - ]
- P b g S o e
Options :

The Executive

1. %

The Judiciary

,_,J i

2. % Ll

The Administrators
3. ® &g

The Citizens

G

4.

Question Number : 129 Question Id : 14558910120 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Who of the following is not associated with analytical school of Justice

e (I ST L ot

Fye
Options :
Jean Bodin
ke
John Locke
SAMIA
2. %

John Austin

Aol
Karl Marx
Db
4, &

Question Number : 130 Question Id : 14558910121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Liberalism originated from word “Liberalis” belongs to which language.

o Vo & U o« Libevalis v f3 rjw

| by,
5 c:;,.d(), / o4
Options:
English
¥ /,;‘:”
1. %
German
A
2. #
Roman
Giare
3. #®
Latin
U;,Jv v,
4.
Economics

SectionId : 145589336



Section Number : 7

Mandatory or Optional : Mandatory
Number of Questions : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0

Is Section Default?: null

Question Number : 131 Question Id : 14558910122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In Economics, the concept of quasi-rent was introduced by
/ ® . / -~ r *
U (o £ g Lo Z 2o L% Lus
7 ';r ()"J /j L' @ J,.- (o~ L—f
Options:

J M Keynes
e
g -2
John Robin Son

pr s Ol

Alfred Marshall

Joh T

3.



David Ricardo

¥
22

4.

Question Number : 132 Question Id : 14558910123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following analysis deals with the study of time path and process of

adjustment to disequilibrium,

f , - ~ ’ / r / . 4
JO)IP 2 e & 2o S Ld) o (b psp
- - v / .
U i dd b
Options :

Comparative static analysis

wF il L s

1. %
Dynamic analysis
L] - /
ot
2.¢

General equilibrium method

Y Iy /*Lf



Partial equilibrium method

"".?//'b fo'f); (f)'/.Iy

Question Number : 133 Question Id : 14558910124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What would be the average fixed cost, given that the total cost Rs.10,000, total

variable cost Rs.6000 and output 200 units?

20
%ubo /

01{,,’1” oo /’j%/)&jﬂ%/ f;"-'/ (8,400 JJ/K;Q};
iy U s

Options :
Rs.20
A 20
=
1.+
Rs.40
2 4D
_ o



Rs.10

cﬁ;'/" i

Rs.30

) 30
=

Question Number : 134 Question Id : 14558910125 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is true in relation to short-run equilibrium under

monopoly?

\ P /e s )
Ujd’)q’wo‘f(é'l”"'ﬁ'/’)c?)[ﬂd@/y;u//ﬂj

"CM W #

Marginal cost = Average Revenue

Options :

. Y4 ;
g}xf VS ;,JH:;'[:,[;

1. %

Marginal cost = Total Revenue

; i 7 a7
ppt F o AL b



Average Revenue = Marginal Revenue

ol G2l o T 2

5,
Marginal cost = Marginal Revenue
A > e 7 -
) gLl - X NT AN
4.9

Question Number : 135 Question Id : 14558910126 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
According to Keyne’s short-run consumption function, when the marginal

propensity to save is equal to one, the size of investment multiplier is equal to:

Yoo VS a2 W L YL ol 3 £
[‘-—-—-Lﬂ“wd /(f/{ L/\/_,.uﬁL}JG’JLv‘.&é«’ U[;'J
f,;é‘}

Options :

More than one

/ /
_j«é}’ = A)



Less than one

/
e

Question Number : 136 Question Id : 14558910127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following statements is nor comrect with regard to Fisher's

transactions quantity theory of money i.e., MV=PT (where M=Quantity of money;

V=Velocity of money ; P-Price level, T=Transactions).
@ﬂé‘v" con babis dlya»;ﬁwﬂwwé/
Co T (J‘“"EJVP /L’/u’// v /M'du : M J/'") dl

Options :

P Varies in direct proportion to M

¢V b FpGr b cmh ) AR



It laid stress on the store of value Function of money

. - /S .
drvw",-; ¥ J’L"C"J/" 8,0

V remains constant

. - v
‘?/L:JW

P is a passive factor

%J,I;JL.;'/’; P

Question Number : 137 Question Id : 14558910128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
When an economy registers a continuous and rapid upward trend in output,

employment etc., it enters the phase of :
/

0 P oo gt g9 Vi g e 22
’ ; r . ..-/ ' P }
%"(fﬁ'(}’” o Aot w9 0 O D
Options :

Tough

o
1. %=



Recovery

o bl
2.
Recession
)
PV ,-Z/-/
3. #
Peak
B Vo
1
4, % U ¢

Question Number : 138 Question Id : 14558910129 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is the principle regulator of Stock Exchanges in India?
) A T g s v e i o1
-?’bb?/ ﬂ (;«;J*" . " ST

Options :

IRDI



Question Number : 139 Question Id : 14558910130 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following economist associated with the development of cumulative

causation thesis. LJLu /' 7o J,:'

’/‘M’/ s /l"d’l’of/

Options :

Gunnar Myrdal

Y
J rP/“' /w"

1. ¢
J.H.Boeke
2. #

Arthur Lewis

ué,a/;ff'

3. #®



Simon Kuznets

Question Number : 140 Question Id : 14558910131 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In Harrod’s growth model, actual growth rate is determined by :
T 4 = W T ¥ e
b Ut g Vot o2 fur gt Sl 2 5t
Options:

Saving — income ratio and capital- output ratio

-~ T . A -
el V:'?.r]/;”':’(’// o o bl - A,

-

1. %
Saving — investment ratio and capital - labour ratio

R P R gV

2. %
Capital — output ratio and output — labour ratio
. / . o j _’

ol 00 },}%vzﬂ__..:b%)/f_‘:’- b

3. #



Investment — capital ratio and income — investment ratio

wtvri/g',[(}»ﬂ -U',uf';ﬂ hf‘“é"’L//fL/“/ - o7 Lfd"‘”

Question Number : 141 Question Id : 14558910132 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following are not a part of demand side vicious circle of poverty?

'Cg({fnfUijé’)Hf:f};g@é’}g//‘;

Options :

Capital deficiency

AE e

Low savings
S/

2. ?

Low investment

Aol f'/



Low income

a»)wff(

Question Number : 142 Question Id : 14558910133 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

India’s rank in 2021 Human Development Report is :
; L:/ " b rr ' .
/?/?E/U IO g S L geny Il
Options :

126

130

132

131

Question Number : 143 Question Id : 14558910134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



‘Faster, sustainable and more inclusive growth’ was the main objective of :
U"'/A/d’} ,ue,'r:-(;-,‘lfb. fdjd,(,é%_;;,”, f/}‘.:‘éé/‘;;
5 (g Uyt JL’&«:;
Options :

8" Five year Plan

W,Jbéi; ol g

1. %
9™ Five year Plan
WM Al é{’, 0139
2. ®
10" Five year Plan
A~ AR r' L.( ‘ (Jf} o
3. % /O‘I é‘;
12" Five year Plan
o Moo é‘f, I 1>
4.

Question Number : 144 Question Id : 14558910135 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Aatmanirbhar Bharat Rojgar Yojana (ABRY) was launched in the year

eIl i o) by oy Sl il
Options :

2019

2021
2020

2022

Question Number : 145 Question Id : 14558910136 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following was held in Visakhapatnam on 3" and 4™ March 20237

[/ b
MJZOL'}‘/QLJ U’KA”["’L""-—"‘"/ 6'“(}*"“'"/"‘

@by

Options :

Global Environment Summit

S LS ) J')l’/



Global Healthcare Summit

b S ) ¥

Global Investors Summit

vt bost JX

3. %

Global Educare Summit

Question Number : 146 Question Id : 14558910137 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Under which scheme, the Government of Andhra Pradesh provides Rs.15000 per

annum to the mothers of the students to send their children to schools ;
e
) / o3 \ o5 &
Ll {a,J; L W(}L'/‘uw%/}sﬂf;;y; ;'J;»_’FQU,.;
é//:f,’y Jj(/’ 5’5)//0 a0y ﬂ’d.}'/ it [So00 VU
))f 2 4 ggee WIER e
Options :
Jagananna Amma Vodi

G '
O‘;j L/ Lluﬁ

1.4



Jagananna Vidya Deevena

Lows bos Ligls

2. %
Jagananna Vidya Kanuka
; Y s
[{V v ,LA-" s b f/ﬁ
3. %
Jagananna Vasati Deevena
Wy
4. %

Question Number : 147 Question Id : 14558910138 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which sampling methods, First unit is taken at random from the universe and
other units are selected at specified intervals.

ﬁ"ts’i?‘}//)y“"/"duwf/dwab{, uua,v/.lr .a..a_-/wl
rq'[{‘?é{ﬂf//ﬁ"d}u}u/ﬂjjoﬂg'/bi 22/

Options :

Cluster sampling

Lok



Judgement Sampling

U Lin’

Stratified Sampling

AT

3. »

Systematic Sampling

i e

Question Number : 148 Question Id : 14558910139 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

With regard to coefficient of correlation, which of the following statement is
correct, _ - e O{,;
o £ Ol il (Sl AL EED
{ -

Options:

It lies between 0 and 1

wbas £) 0



It lies between -1 and 0

P
2 Qlarr 2 6 -

It lies between -1 and +1

Olar> £+ o1

3. %

It lies between -co and +oo

Fa
Dber £ yoo ,51 -0

Question Number : 149 Question Id : 14558910140 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the value of standard deviation if coefficient of variation is 60 and

Arithmetic mean is 40,

(sz“‘w /c’lf-a,wLa posl r2! 60 o V/*"’/’
cg"&///.:/’

Options :

24



15

36

14

Question Number : 150 Question Id : 14558910141 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following index is a weighted aggregate price index where the
weights are determined by quantities in the base period?
Vo,00lr o 5/ s s 21 olin s d
ol W o3/ grow 3k 02
Options:

Ideal Index

,:;/(;,; d’u‘

Paasche’s Index

add 7 L/(f—/ )L
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Laspeyre’s Index

;:';f.’.:ﬂ’ [’//,%’d_/,”

Bowley’s Index
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